Opened:	July 10, 2020		7		
For:	Annual Contract for Mud Sump Service & Drain Line Cleaning				
			NON-LOCAL	NON-LOCAL	NON-LOCAL
			Terrabella Environmental Services Inc	A-1 Rocket Energy Services LLC	SouthWaste Disposal, LLC
3.555.45556					
6100012890	Т	HH Estimated	5376 FM 1784	105 E Cardinal	1375 Creekview
		Annual	Pleasanton, TX 78064	Floresville,	San Antonio,
Item	Description	Quantity	210-892-4496	TX 78114	TX 78219
	·	-			
Section 1	Building & Equipment Svc Dept & SWMD				
1A	Central Shops, 329 S. Frio 78207				
1	Wash Stall (CS-W1)	4	\$360.00	¢1.150.00	¢290.00
	Price Per Sump Extended Price		\$360.00		\$280.00 \$1,120.00
	Extended File		φ1,440.00	\$4,000.00	\$1,120.00
2	Oil/Water Separator (CS-OWS1)	1			
	Price Per Sump		\$3,000.00	\$5,650.00	\$4,500.00
	Extended Price		\$3,000.00	\$5,650.00	\$4,500.00
2A	Northeast SC, 10303 Tool Yard 78233	4			
1	Manual Carwash (TY-MCW1) Price Per Sump	4	\$648.00	\$1,550.00	\$504.00
	Extended Price		\$2,592.00	11	•
	Extended 1 noc		Ψ2,002.00	ψ0,200.00	Ψ2,010.00
2	Manual Carwash (TY-MCW2)	4			
	Price Per Sump		\$720.00	1	•
	Extended Price		\$2,880.00	\$6,600.00	\$2,240.00
3	Manual Carwash (TY-MCW3)	4			
3	Price Per Sump	4	\$720.00	\$1,650.00	\$560.00
	Extended Price		\$2,880.00		
			,	, , , , , , , , , , , , , , , , , , ,	, _,_,_,
4	Manual Carwash (TY-MCW4)	4			
	Price Per Sump		\$720.00	•	
	Extended Price		\$2,880.00	\$6,600.00	\$2,240.00
5	Oil/Water Separator (TY-OWS1)	4			
	Price Per Sump		\$600.00	\$1,650.00	\$900.00
	Extended Price		\$2,400.00	-	
			, ,	. ,	. ,
6	Oil/Water Separator (TY-OWS2)	4			
	Price Per Sump		\$600.00	•	
	Extended Price		\$2,400.00	\$6,600.00	\$3,600.00
7	Oil Sump Trap (TY-OST1)	4			
	Price Per Sump		\$900.00	\$2,150.00	\$1,650.00
	Extended Price		\$3,600.00	•	-
8	Oil Sump Trap (TY-OST2)	4	#000 00	04.450.00	ΦE50.00
	Price Per Sump Extended Price		\$300.00 \$1,200.00	•	
	Extended File		\$1,200.00	\$4,000.00	\$2,200.00
3A	Southwest SC, 6927 W. Commerce 78227				
1	Oil/Water Separator (SW-OW1)	4			
	Price Per Sump		\$1,200.00	•	-
	Extended Price		\$4,800.00	\$10,600.00	\$7,200.00
2	Auto Car Wash (SW-ACW)	1			
	Price Per Sump	4	\$1,512.00	\$2,750.00	\$1,176.00
	Extended Price		\$6,048.00	•	-
			, ,	. ,	. ,
3	Manual Carwash (SW-MCW)	4			
	Price Per Sump		\$1,296.00		
	Extended Price		\$5,184.00	\$9,800.00	\$4,032.00
4A	Southeast SC 2, 1318 SE Loop 410 78220				
1	Oil/Water Separator (SE-VMB OW1)	4			
'	Price Per Sump	_	\$900.00	\$2,150.00	\$1,350.00
	Extended Price		\$3,600.00	•	-
2	Oil/Water Separator (SE-VMB OW2)	4	*****	#4.0F0.55	***
	Price Per Sump Extended Price		\$600.00 \$2,400.00	•	
	Extended Finde		\$2,400.00	Φ0,000.00	გ ა,იიი.იი
]	Ī	II	<u>II</u>	

Opened:	July 10, 2020]		
For:	Annual Contract for Mud Sump Service & Drain Line				
	Cleaning			NONLOGAL	NON 1 0041
			NON-LOCAL Terrabella Environmental	NON-LOCAL A-1 Rocket Energy	NON-LOCAL SouthWaste Disposal,
			Services Inc	Services LLC	LLC
6100012890	T	HH	5376 FM 1784	105 E Cardinal	1375 Creekview
ltom	Description	Estimated Annual	Pleasanton, TX 78064	Floresville, TX 78114	San Antonio, TX 78219
Item 3	Description Manual Carwash (SE-MCWGT)	Quantity 4	210-892-4496	17 /8114	1X 78219
J	Price Per Sump Extended Price	·	\$1,080.00 \$4,320.00		
4	Automatic Carwash (SE-ACW1) Price Per Sump Extended Price	4	\$1,080.00 \$4,320.00		
5A 1	Culebra Complex, 6802 Culebra 78238 Lateral (CC-L1) Price Per Sump	4	\$338.10	\$1,800.00	\$631.12
	Extended Price		\$1,352.40		
2	Wash Stall 1 (CC-WS1) Price Per Sump Extended Price	4	\$247.68 \$990.72		·
6A 1	Northwest SC, 6939 West Loop 1604 North 78254 Oil/Water Separator (NW VMB-OWS 1) Price Per Sump	4	\$900.00	11	· · · · · · · · · · · · · · · · · · ·
	Extended Price		\$3,600.00	\$8,600.00	\$5,400.00
2	Manual Carwash (NW-MCWGT) Price Per Sump Extended Price	4	\$1,080.00 \$4,320.00	11	
3	Automatic Carwash (NW-ACW1) Price Per Sump Extended Price	4	\$1,080.00 \$4,320.00		
7A 1	Public Safety HQ, 515 S. Frio 78207 Auto Car Wash (PS C1) Price Per Sump Extended Price	4	\$720.00 \$2,880.00		
8A 1	Police Northwest, 5020 Prue Rd 78240 Auto Car Wash (PNW-C1) Price Per Sump Extended Price	4	\$300.96 \$1,203.84		
9A 1	Police South, 711 W. Mayfield 78211 Auto Car Wash (PS-C1) Price Per Sump Extended Price	4	\$300.96 \$1,203.8 ²	11	
10A 1	Police East, 3635 E. Houston 78207 Auto Car Wash (PE-C1) Price Per Sump Extended Price	4	\$300.96 \$1,203.8 ²	1	
11A 1	Bitters Recycling Complex, 1800 Wurzbach Pkwy 78216 2000 gallon septic holding tank (Bit-01) Price Per Service Extended Price	4	\$600.00 \$2,400.00	11	
1	2000 gallon septic holding tank (Bit-02) Price Per Service Extended Price	4	\$600.00 \$2,400.00	11	
12A 1	Council District 4 Field Office, 5102 Old Pearsall 78242 Septic Tank Price Per Sump Extended Price	2	\$150.00 \$300.00		
13A 1	Fire Training Academy, 300 S. Callaghan Rd 78228 Sewage Lift Station Price Per Sump Extended Price	2	\$810.00 \$1,620.00		I

Opened: July 10, 2020 For: Annual Contract for Mud Sump Service & Drain Line Cleaning **NON-LOCAL NON-LOCAL NON-LOCAL** Terrabella Environmental A-1 Rocket Energy SouthWaste Disposal, Services Inc Services LLC LLC 5376 FM 1784 105 E Cardinal 1375 Creekview 6100012890 ΗН **Estimated** Pleasanton, TX 78064 San Antonio, **Annual** Floresville, TX 78114 Item Description Quantity 210-892-4496 TX 78219 2 Oil/water Separator 2 Price Per Sump \$300.00 \$1,150.00 \$450.00 Extended Price \$600.00 \$2,300.00 \$900.00 3 Grease Trap 2 Price Per Sump \$250.00 \$700.00 \$250.00 \$500.00 **Extended Price** \$500.00 \$1,400.00 14A Municipal Plaza, 114 W. Commerce St 78205 2 Sewer Lift Station Price Per Sump \$150.00 \$720.00 \$175.00 **Extended Price** \$300.00 \$1,440.00 \$350.00 15A Police Academy, 12200 Loop 410 SE 78221 2 Grease Trap 1 \$250.00 \$700.00 \$250.00 Price Per Sump Extended Price \$500.00 \$1,400.00 \$500.00 16A International Center, 203 S. St. Marys 78205 Sewer Lift Station 2 Price Per Sump \$1,200.00 \$1,800.00 \$1,210.00 Extended Price \$3,600.00 \$2,400.00 \$2,420.00 17A City Hall, 100 Military Plaza 78205 Storm Lift Station 2 \$448.00 \$384.00 \$1,500.00 Price Per Sump \$768.00 Extended Price \$3,000.00 \$896.00 **TOTAL, SECTION 1** \$90,010.48 \$214,638.00 \$97,998.32 Section 2 Fire Department Facilities Price per gallon for servicing Fire Dept facilities 2500 \$0.58 \$0.60 \$1.50 2 Minimum number of gallons charged per service 500 1000 1000 **Extended Price/Total Section 2** \$1,450.00 \$3,750.00 \$1,500.00 Section 3 Parks & Recreation Facilities McAllister Park Restroom #1, 13102 Jones Maltsberger 1A 2 750 gallon tank (MP1-S1) 1 Price Per Sump \$225.00 \$755.00 \$412.50 **Extended Price** \$450.00 \$1,510.00 \$825.00 2 750 gallon tank (MP1-S2) 2 Price Per Sump \$225.00 \$412.50 \$755.00 **Extended Price** \$825.00 \$450.00 \$1,510.00 2A McAllister Park Restroom #4, 13102 Jones Maltsberger 2 750 gallon tank (MP4-S3) Price Per Sump \$225.00 \$412.50 \$755.00 Extended Price \$450.00 \$825.00 \$1,510.00 750 gallon tank (MP4-S4) Price Per Sump \$225.00 \$755.00 \$412.50 Extended Price \$450.00 \$1,510.00 \$825.00 **3A** McAllister Park Restroom #5, 13102 Jones Maltsberger 750 gallon tank (MP5-S5) 2 1 \$225.00 Price Per Sump \$755.00 \$412.50 Extended Price \$450.00 \$825.00 \$1,510.00 2 2 750 gallon tank (MP5-S6) \$755.00 Price Per Sump \$225.00 \$412.50 Extended Price \$450.00 \$1,510.00 \$825.00 4A Medina River Natural Area, 15890 Hwy 16 South 2 500 gallon tank Price Per Sump \$275.00 \$315.00 \$755.00 **Extended Price** \$630.00 \$550.00 \$1,510.00

Opened:	July 10, 2020		1		
For:	Annual Contract for Mud Sump Service & Drain Line				
	Cleaning		NON-LOCAL	NON-LOCAL	NON-LOCAL
			Terrabella Environmental	A-1 Rocket Energy	SouthWaste Disposal,
			Services Inc	Services LLC	LLC
6100012890	T	HH	5376 FM 1784	105 E Cardinal	1375 Creekview
		Estimated Annual	Pleasanton, TX 78064	Floresville,	San Antonio,
Item	Description	Quantity	210-892-4496	TX 78114	TX 78219
2	500 gallon tank Price Per Sump	2	\$315.00	\$755.00	\$275.00
	Extended Price		\$630.00	\$1,510.00	\$550.00
5A	Commander's House, 647 S. Main St.				
1	20 gallon Grease Trap	2			
	Price Per Sump Extended Price		\$11.00 \$22.00	II **	
			4 ==:00	ψ 1,0 2 0.00	ψ 100.000
6A 1	Brackenridge Park, 3500 N. St. Mary's Sewer Lift Station	2			
	Price Per Sump	_	\$300.00		
	Extended Price		\$600.00	\$1,500.00	\$700.00
2	Sewer Lift Station	2			
	Price Per Sump Extended Price		\$300.00 \$600.00		
	Extended Fince		\$600.00	\$1,500.00	\$700.00
7 A	Martin Luther King Park, 3503 Martin Luther King Drive				
1	Sewer Lift Station Price Per Sump	2	\$300.00	\$.75/Gal, 1000 Min	\$350.00
	Extended Price		\$600.00	· '	\$700.00
8A	Friedrick Park, 21395 Milsa				
1	1 Tank at 1000 gallons (FP-S1)	2			
	Price Per Sump Extended Price		\$300.00 \$600.00		9
	Extended Fince		φου.υυ	ψ1,500.00	\$1,100.00
9A	Southside Lions Park (Restrooms by Lake), 3900 Pecan Valley				
1	Sewer Lift Station	2			
	Price Per Sump Extended Price		\$90.00 \$180.00		\$180.00 \$360.00
	Extended Fince		φ100.00	\$1,400.00	ψ300.00
10A 1	Vidaurri Park, 1201 Merida Sewer Lift Station	2			
'	Price Per Sump	2	\$300.00	\$1.15/Gal, 1000 Gal Min	\$560.00
	Extended Price		\$600.00	\$2,300.00	\$1,120.00
	Any services provided to Parks & Rec Dept for tanks, lift				
11A	stations & lines which are not listed above will be charged on a per gallon basis.				
1	Price per gallon for additional service for Parks	1000	\$0.58		\$0.60
2	Minimum number of gallons charged per service Extended Price		1000 \$580.00		1000 \$600.00
	TOTAL, SECTION 3		\$7,742.00	1	\$11,730.00
Section 4	Aviation Department				
1A	Grease Vats in Terminal A				
1	TA Basement Price Per Sump	12	\$550.00	\$900.00	\$550.00
	Extended Price		\$6,600.00		9
2	TA Below Gate 3	12			
_	Price Per Sump		\$275.00	II **	9
	Extended Price		\$3,300.00	\$9,300.00	\$3,300.00
3	TA Below Gate 14	12			
	Price Per Sump Extended Price		\$275.00 \$3,300.00		
			ψ0,000.00	ψ3,300.00	ψ0,000.00
4	TA Below Gate 11 Price Per Sump	12	\$275.00	\$775.00	\$275.00
	Extended Price		\$3,300.00		
5	TA Below Gate 11	12			
	Price Per Sump		\$550.00		
	Extended Price		\$6,600.00	\$10,800.00	\$6,600.00

Opened:	July 10, 2020		7		
For:	Annual Contract for Mud Sump Service & Drain Line Cleaning				
			NON-LOCAL Terrabella Environmental	NON-LOCAL A-1 Rocket Energy	NON-LOCAL SouthWaste Disposal,
6100012890		НН	Services Inc 5376 FM 1784	Services LLC 105 E Cardinal	LLC 1375 Creekview
14	Description .	Estimated Annual	Pleasanton, TX 78064	Floresville,	San Antonio,
Item	Description	Quantity	210-892-4496	TX 78114	TX 78219
1B 1	Grease Vats in Terminal B On AOA, next to TB Gate 1 Price Per Sump Extended Price	12	\$825.00 \$9,900.00		
2B 1	Storm Lift Station Cleaning Terminal A Basement (1) Price Per Sump Extended Price	2	\$3,150.00 \$6,300.00		
2	Terminal A Basement (2) Price Per Sump Extended Price	2	\$1,260.00 \$2,520.00	II	
3	Terminal A Basement (3) Price Per Sump Extended Price	2	\$1,890.00 \$3,780.00	II	
2B 1	Storm Lift Stations Parking Garage East End of Short Term Price Per Sump Extended Price	2	\$3,150.00 \$6,300.00		
2	West End of Short Term Price Per Sump Extended Price	2	\$1,890.00 \$3,780.00		
2C 1	Storm Lift Stations Terminal B Basement Elevator 1&2 Price Per Sump Extended Price	2	\$1,300.00 \$2,600.00		-
2	Basement Elevator 3&4 Price Per Sump Extended Price	2	\$1,300.00 \$2,600.00		-
3	Basement Elevator 6 Price Per Sump Extended Price	2	\$1,300.00 \$2,600.00		
4	Basement Elevator 6 Price Per Sump Extended Price	2	\$1,300.00 \$2,600.00		
3A	Sewage Lift Station Terminal A TA Basement Price Per Sump Extended Price	2	\$1,500.00 \$3,000.00		
3B 1	Sewage Lift Staions Terminal B Basement Elevators 3&4 Price Per Sump Extended Price	2	\$1,300.00 \$2,600.00		
2	Basement Elevator 6 Price Per Sump Extended Price	2	\$1,300.00 \$2,600.00		
3C 1	Sewer Lift Station at 1039 Next to Front Door Price Per Sump Extended Price	4	\$150.00 \$600.00		
3D 1	Sewer Lift Station at CUP Between CUP & PM Trailer Price Per Sump Extended Price	2	\$150.00 \$300.00		

Opened:	July 10, 2020]		
For:	Annual Contract for Mud Sump Service & Drain Line				
	Cleaning		NON-LOCAL	NON-LOCAL	NON-LOCAL
			Terrabella Environmental	A-1 Rocket Energy Services LLC	SouthWaste Disposal, LLC
6100012890		НН	5376 FM 1784	105 E Cardinal	1375 Creekview
		Estimated	Pleasanton,		
ltem	Description	Annual Quantity	TX 78064 210-892-4496	Floresville, TX 78114	San Antonio, TX 78219
3E	Triturator Sewer Lift Station				
1	On AOA, Near Gte 20	4			
	Price Per Sump Extended Price		\$600.00 \$2,400.00		\$700.00 \$2,800.00
	Extended File		\$2,400.00	\$7,120.00	\$2,000.00
4A	OilSeparator/Grit Sump				
1	Maintenance Yard, 10223 John Saunders Rd Price Per Sump	2	\$300.96	\$1,550.00	\$495.00
	Extended Price		\$300.90 \$601.92	-	\$990.00
_				·	
2	East Cargo Facility (DHL) Airfield Price Per Sump	1	\$5,760.00	\$9,000.00	\$8,700.00
	Extended Price		\$5,760.00 \$5,760.00		\$8,700.00
0	E 10 E 111 /E 15 \ A: 5 I	4			
3	East Cargo Facility (FedEx) Airfield Price Per Sump	1	\$5,760.00	\$9,000.00	\$8,700.00
	Extended Price		\$5,760.00		\$8,700.00
4	Courth DON Down Airfield	4			
4	South RON Ramp Airfield Price Per Sump	1	\$3,456.00	\$5,800.00	\$4,920.00
	Extended Price		\$3,456.00		\$4,920.00
E	Fact Corre Damp Airfield	4			
5	East Cargo Ramp Airfield Price Per Sump	l	\$2,880.00	\$5,800.00	\$5,100.00
	Extended Price		\$2,880.00	\$5,800.00	\$5,100.00
	TOTAL, SECTION 4		\$96,037.92	\$177,894.00	\$120,820.00
Section 5	Additional Contract Services Hydro-Jetting in conjunction with another service, per				
1	hour				
	Price Per Hour		\$300.00		\$300.00
	Extended Price		\$1,200.00	\$1,400.00	\$300.00
2	Hydro-Jetting alone, per hour				
	Price Per Hour Extended Price		\$300.00 \$1,200.00		\$300.00 \$300.00
	Extended Fince		ψ1,200.00	\$1,400.00	φ300.00
	Minimum number of hours charged for Hydro-Jetting				
3	service		4	4	1
2A	Sample and Profile Waste Fee, per sump		\$450.00	\$500.00	\$525.00
3A	Video Services fee per hour		\$325.00	\$300.00	\$400.00
4A	Emergency Services			,	
1	Regular Time Extended Price	40	\$175.00 \$7,000.00		\$400.00 \$16,000.00
	Extended Fince		Ψ1,000.00	φ5,000.00	φ10,000.00
2	Overtime	10	\$235.00		
	Extended Price		\$2,350.00	\$1,500.00	\$4,000.00
	TOTAL, SECTION 5		\$12,525.00	\$10,100.00	\$21,525.00
	Payment Terms		Net 30	Net 30	Net 30
	Estimated Annual Total		\$207,765.40	\$431,062.00	\$253,573.32
	Estimated Annual Award		\$207,765.40		